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1.UXA DER (B H)

5 B UNEEFH QFEERE =8 HZE

1,200,000 1,240,000
WASE 40,000
N (@20,000 X 604 ) (@20,000 X 624 )
SEMA
poop 70,000 95,000 25 000
= (@5,000 X 1443) (@5,000 X 194 ) ’

EEF R 1,000 711 -289
INAEET A 1,271,000 1,335,711 64,711
2.ZHDER (B M)

5 B UNEEFH UQFEERE =8 wE

s 100,000 101,781 1,781
‘ES 35,000 23,520 -11,480
EHE 0 8,724 8,724
() EFHEE 135,000 134,025 -975
LR BEE 750,000 768,705 18,705
FES 150,000 83.475 -66,525
FHBRE 300,000 240,000 -60,000
REEE 210,000 147,000 -63,000
HE 10,000 50,000 40,000
(2)FEEEE 1,420,000 1,289,180 -130,820
ZHEE B {(1H+2)) 1,555,000 1,423,205 -131,795
3)FEE C 100,000 0 -100,000
LHAN T = %A _ _

A0 384.000 87,494 296,506
AIHERiEHE 3,421,811 3,421,811 0
RERfEHE 3,037,811 3,334,317 296,506
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